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fEELT T (KIE) 63.7 m3
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F—Tohy G |F—Tohy ~(HH) =EEFFE

BRB | XEER & &
WE Ty LR | W@ T LB | WE P IR | Mm@ Ty IR

NO. 2 1.0 0.50

No. 3 20. 000 1.0, 1.00 20.0

No. 3 1.1 4.05

No. 4 20.000 | 13.8 10.45 209.0f 1.6 0.80 16.0

No. b 20.000 | 19.0 16.40 328.0f 1.8 1.70 34.0

No. 6 20.000 | 31.1 25.05 501.0f 6.7 4.25 850

No. 6+11.5 | 11.500 | 12.4 21.75 250.1 0.00 3.35 385

No. 7 8.500 [ 34.5 23.45 199.3[ 0.0

SP.2 6.542 | 21.5 28.00 183.2[ 0.0

No. 7.542 1.000 0.00 10.75 10.8] 0.0
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E;E

107. 542 1701. 4 173.5
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| RiE (E) (BN | RKIE (B) (B | KIE () (hE)
BRB | XEER & &
WE Ty LR | W@ T LB | WE P IR | Mm@ Ty IR

NO.

NO. 2 0.4 0.20
No. 3 20. 000 0.4 0.40 8.0
No. 3 0.3 0.15 1.0, 0.70 1.0 0.50
No. 4 20. 000 0.4 0.3 7.00 1.1 1.05 21.0 1.1 1.05 21.0
No. b 20. 000 0.2 0.30 6.0 2.4 1.75 3500 2.3 1.70] 34.0
No. 6 20. 000 0.2 0.2 40 2.9 2.65| 53.00 30 2.65 530
No. 6+11.5 | 11.500 0.10 1.2 1.45  16.7
No. 7 8.500 0.2 0.10 0.9 0.2 0.10 0.9

SP.2 6. 542 0.2 0.20 1.3 0.2] 0.20 1.3

No. 7.542 1.000 0.0, 0.10 0.1 0.0, 0.10 0.1
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NO.

NO.

NO.

NO.
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NO.

NO.

NO.

NO.

NO.

NO.
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NO.
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NO.
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NO.
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NO.
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Bl A | XHEEERE B &
BrE F¥ LB | WE FH IR Ty T
NO.
NO. 2 0.2 0.10
No. 3 20. 000 0.1 005 1.0 02 02 4.0
No. 3 0.2 0.15 0.7 0.45
No. 4 20. 000 0.2 020 40/ 08 075 150
NO. 5 20. 000 1.7 0.85 17.0/ 0.2 0.20 40| 0.2 050 10.0
NO. 6 20. 000 21 1.90 380 0.2 02 40 02 0.2 4.0
No. 6+11.5 | 11.500 1.05  12.1 0.10 1.2 0.100 1.2
No. 7 8. 500 0.2 010 09/ 02 010 0.9
SP. 2 6. 542 0.2 020 1.3 02 02 1.3
No. 7. 542 1.000 0.0 0.10 0.1 0.10, 0.1
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
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NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
East
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NO. 20. 000 2.1 1.30 26.0] 2.5 2.45 49.0

No. 6+11.5 | 11.500 1.05  12.1 1.25] 14.4

No. 7 8.500 1.7 0.85 1.2
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FEHIMETESE MEE)S
SEET g+ Bt
BEFWA () (M) |[FEFWA (F) G@#EB) [EFwit () (M) |[EFWwS (B) GEbn
BAAH | xR o
SE T 1 TH|AE T 4 FH|2E F 4 TH|AE T 8 L@
NO. 2
NO. 3 20.0
NO. 3 0.5/ 0.25
NO. 4 20.0 0.5/ 0.25 5.0 0.8/ 0.40 8.0 0.25 5.0
NO. 5 20.0 0.5/ 0.50/ 10.0 2.4 1.60, 32.0
NO. 6 20.0 2.1 1.300 26.0 2.5/ 2.45 49.0
NO. 6+11.5 11.5 1.05 12.1 1.25) 14.4
NO. 7 8.5 1.7 0.85 1.2
SP. 2 6.5 1.3/ 1.50 9.8
NO. 8 1.0 0.0/ 0.65 0.7
NO. 9 20.0
NO. 10 20.0
NO. 11 20.0
NO. 12 20.0
NO. 13 20.0
NO. 14 20.0
EC. 2 3.0
NO. 15 17.0
NO. 16 20.0
NO. 17 20.0
NO. 18 20.0
NO. 19 20.0
NO. 20 20.0
NO. 21 20.0
NO. 22 20.0
NO. 23 20.0
NO. 24 20.0
NO. 25 20.0
NO. 25+15 15.0
NO. 26 5.0
NO. 27 20.0
NO. 28 20.0
NO. 29 20.0
NO. 30 20.0
BC. 3 19.5
NO. 32 0.5
SP. 3 18.6
NO. 33 1.4
NO. 34 20.0
NO. 35 20.0
=51 627.5 70.8 103.4 5.0
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i AR

i 5 o ne BT RE B () | D | SEsE
PRI (1) | #R | A IE

BfE ¢ 300 1.0 0.8

BE ¢ 450 1.6 | 1.2

BE ¢ 600 2.0 2.2 1.6 4.4 3.2
IR K ¢ 300 0.3

K 4 2.9 2.3

LK 5. 6 3.8 2.8

VN 7 4.4 3.2

SRk 8 6.7 | 4.9 B LTI CEH E
LK 9 5.6 | 4.2 B TICCE R
LKk 10 4.5 3.5 B LTI TE
oK 11, 30 5.3 3.8

oK 12 7.5 5.2

VN 14 9.2 6.4

oK 15 7.0 4.9

s 0171920 2.6 | 2.1

M 18,22, 25, 26 2.8 2.2

VN 23 6.3 4.4

oK 24 3.6 | 2.7

LK 27, 28, 29 4.6 | 3.3

VN 31 8.4 5.7

K 40 5.7 4.1

K s PU1-360B 84.17 0.7 0.5 59. 3 42. 4

KB PU1-450 1.1 0.7

NS PU2-500A 1.4 0.9

KB U-500-500 1.3 0.8

at BT TR R 63. 7 45.6
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n FEHEF] 300X 1000 m 4.0
VSIAIE 30048 L=500 K 44
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=27 ) — b 18-8-25BB m3 1.99
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FEAEH 300 X 600 = 8. 00 8.0 m
FEE 300 X 700 = 12.93 12.9 m
FEAEH 300 X 800 = 12.11 12.1 m
FEE 300 X 900 = 14.00 14.0 m
FEAEH 300X 1000 = 4. 00 4.0 m
) 1 2% 3004%3E H = 44.0 44.0 H
TVL—F T 30048 A L=500 = 12.0 12.0 #&
a7 ) — b BIAREHEE LY = 1.986 1.99 m3
(18-8-25BB)
a7 — | BIRRFHEE LY = 3.079 3.08 m3
(18-8-25BB)
[A] [ F P 0.10X2X57. 04 = 11.408 11.41 m2
e B A BIRRFHEE LY = 36.498 36.50 m2
(RC-40 t=100)
FmEE M EAEICFE T =  36.498 36.5 m2
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[ 7= 300 [mimi&Es @ | i)
FEAR) (h1AR)) A (h24a) o
. B C
%%‘ EE%E Eﬁ]gco ( 3) © %E%#‘j‘
(L) (m®) m t=10cm
hl B1 B2 h2 B1 B2 t=10cm
1 0.145 0.510 = 0.610 [ 0.070  0.510  0.610 6. 00 0. 194 0. 306 3. 660
2 0.170  0.530 = 0.630 [ 0.070 = 0.530  0.630 8. 00 0. 288 0.424 5. 040
3 0.170  0.530 = 0.630 | 0.095 0.530  0.630 6.18 0. 246 0.328 3.893
4 0.095 0.530  0.630 [ 0.050  0.530  0.630 3.82 0. 083 0. 202 2.407
5 0.150  0.550 = 0.650 | 0.125  0.550  0.650 2. 28 0.094 0. 125 1. 482
6 0.125  0.550 = 0.650 | 0.070  0.550  0.650 3.72 0. 109 0. 205 2.418
7 0.170  0.550 = 0.650 | 0.055  0.550  0.650 8. 00 0.270 0. 440 5. 200
8 0.155  0.570 = 0.670 | 0.135  0.570  0.670 1.54 0. 067 0. 088 1.032
9 0.135  0.570 = 0.670 | 0.070 = 0.570  0.670 2. 46 0.076 0. 140 1. 648
10 0.170  0.550 = 0.650 | 0.055  0.550  0.650 6. 00 0. 203 0. 330 3.900
11 0.155  0.550 = 0.650 | 0.115  0.550  0.650 4. 11 0. 166 0.226 2.672
12 0.115  0.550 = 0.650 | 0.065 0.550  0.650 2.00 0. 054 0.110 1. 300
13 0.165 0.530 = 0.630 | 0.145 0.530  0.630 2.93 0.136 0. 155 1. 846
7 57.04 1. 986 3.079 36. 498
ABaLHY—b a _ K )
- 8 El//
[z bl S (
EREH L
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FEAEF] 300X 800 m 8.0
FEAEF] 300X 900 m 8.0
FEHEF] 300 X 1000 m 9.8
FEAEF 300X 1100 m 8.0
=27 ) — b 18-8-25BB m3 2.04
a7V -k 18-8-25BB m3 3.15
[0 m2 11.56
Rz RC-40 t=100 m2 37.26
Hr e m2 37.3
PU1-360B m 0
PU2-300B m 10.7
PC3-300f] 3% ¥ 0
Gr# (300 AN H)
Gr (300/) HrekEd  1=500 K 0
VSIIE 5 300458 M L=500 ¥ 45
VSGrz (300) HrekEd  1=500 K 12
M TZAAR#ED300 (A) m 0
M T AR#D300 (B) m 0
M T HR#D300 (C) WR= 9 A m 0
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il A P2k & X 1vA % B f§
M FEZARIT#ED300 (C) WR=1 2 H m 0
M TEARITED300 (C) WR=1 8 H m 0
oKL IR (A-2712) & T 1
Herk ik (8) & T 0
STk (9) & FIT 0
SR (10) & T 0
BIRT B (¢ 600) m 6
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& (W) EFEELXI AL (MH)
i 5 o Wﬁ(im) @FE; ﬁzﬁ%E () | gD | MmsE
B ¢ 300 1.0 0.8
B ¢ 450 1.6 1.2
B ¢ 600 6.0 2.2 | 1.6 13.2 9.6
IR HEK ¢ 300 0.3
VIS 4 2.9 2.3
oKt 5. 6 3.8 2.8
K 7 4.4 3.2
VIS 8 6.7 4.9
£V 9 5.6 | 4.2
K 10 4.5 3.5
K 11, 30 5.3 3.8
£V 12 7.5 5.2
K 14 9.2 6.4
K 15 7.0 4.9
s 0171920 2.6 | 21
KB 18,22, 25,26 2.8 2.2
K 23 6.3 4.4
EVI 24 3.6 | 2.7
oKt 27, 28,29 4.6 | 3.3
K 31 8.4 5.7
VIS 40 5.7 4.1
N PU1-300B 0.7 0.5
N PU1-450 1.1 0.7
N PU2-500A 1.4 0.9
N U-500-500 1.3 0.8
at BT Tk 13.2 9.6
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[ AR (1) ¥ & F (hHH) EWY)
4 w B | xR Woom
SN AR FEHEF] 300 X500 m 10.0
i FEAER] 300 X 600 m 8.0
" FEHEF] 300X 700 m 6.0
I HEAER] 300 X 800 m 8.0
) FEHEF] 300 <900 m 8.0
n FEHEF] 300X 1000 m 9.8
I FEAEF] 300X 1100 m 8.0
VSIE 5 30048 L=500 K 45
VST L —F v TE 300—#xJH L=500 e 12
q
P 7Y — 18-8-25BB m3 2.04
a7 ) — b 18-8-25BB m3 3.15
[ bR m2 11.56
5 M RC-40 t=100 m2 37.26
Hi e IE m2 37.3
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B

[ B (1) ¥ o' B HOF (hHE) 10z Y
£ PR H = =Y i o
ENEERS LR R FEE 300 X 500 = 10.00 10.0 m
FEAEH 300 X 600 = 8. 00 8.0 m
FEE 300 X 700 = 6. 00 6.0 m
FEAEH 300 X 800 = 8. 00 8.0 m
FEE 300 X 900 = 8.00 8.0 m
FEAEH 300X 1000 = 9,82 9.8 m
FEE 300X 1100 = 8.00 8.0 m
0 1 = 3004435 H = 45.0 45.0 M
TV—F L TE 3004538 Ffl L=500 = 12.0 12.0 #
oY — | BIGETEEL D = 2,040 2.04 m3
(18-8-25BB)
Bt 70—k BIAREHEE LY = 3,148 3.15 m3
(18-8-25BB)
A TP 0.10X2X57.82 = 11.564 11.56 m2
H wE M B EE LY = 37.259 37.26  m2
(RC-40 t=100)
FEH#EIE FHEM EAEIZFE T = 37.259 37.3 m2
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FI BT
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| v1x 00 |wmrEs 1 | i H
£ (h 141 A1 (h2f1) o
o = C
o e A% Co 0 SEREERA
&5 (L) (m®) () t=10cm
hl B1 B2 h2 B1 B2 t=10cm
1 0. 145 0.510 0.610 0.175 0.510 0.610 2.66 0.128 0.136 1.623
2 0.175 0.510 0.610 0.075 0.510 0.610 6. 92 0. 260 0. 353 4.221
3 0.075 0.510 0.610 0.070 0.510 0.610 0.42 0. 009 0.021 0. 256
4 0.170 0.530 0.630 0. 055 0.530 0.630 8. 00 0.270 0.424 5. 040
5 0. 155 0.530 0.630 0.070 0.530 0.630 6. 00 0. 203 0. 318 3. 780
6 0.170 0. 550 0. 650 0. 095 0. 550 0. 650 5.44 0.216 0. 299 3. 536
7 0. 095 0. 550 0. 650 0. 060 0. 550 0. 650 2.56 0. 060 0. 141 1. 664
8 0. 160 0. 550 0. 650 0.115 0. 550 0. 650 3. 40 0. 140 0. 187 2.210
9 0.115 0. 550 0. 650 0. 050 0. 550 0. 650 4. 60 0.114 0. 253 2.990
10 0. 150 0.570 0.670 0.070 0.570 0.670 6. 00 0. 198 0. 342 4. 020
11 0.170 0.570 0.670 0.125 0.570 0.670 3.07 0.136 0.175 2. 057
12 0.125 0.570 0.670 0. 165 0.570 0.670 4.93 0.214 0. 281 3.303
13 0. 065 0.570 0.670 0. 095 0.570 0.670 3.82 0.092 0.218 2.559
7 57.82 2. 040 3. 148 37.259
EEavHy—t a . K )
- 8 ;l/
[z il = (
EBH L




PEAKEED T
AE A

Fifi By 7 B 3
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B

PU1-300B N
I PNrE WA HAL L % & W
N \ \
(=X ﬁ % ==
L No. 2 + 0.0 No. 5 m 84.7 #HBh
= m 84.7

34



B

PU2-300B N
B WA | owe m
4 I N = HAL % & W
R | No. 4.6 No. 4 m 35.8 #HBh
L | No. 4.6 No. 3 + 11.0 m 10.7 T HL
& m 46.5
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PC3-300 %

% =

B

S
- WA T .
4 I N HAL % & T 5
R | No. 2 4.6 No. e 64.0 #HBh
o 64. 0
PC3-500 fH 2% = o
g P WA HAL % & W
7] [IER g % B
& F e 0.0
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B

Grz (3007 —%)

%

i <
P I AL e i BALT o B il G2
7] [IER g % B
& F 0.0 0.0
Grs (300 AN H) G =
N il R o e .
P2 R AR = ==X va ¥ = Fi¥ B
R | No. 4.6 No. 4 e 8.0 #HBh
& % 0.0 8.0
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B

[T RI74D300 (A) ¥ & W &
% B frE e = IV O oo
L | No. 4.6 No. 5 +19.5 m 59. 2 HiBh
R | No. 4.6 No. 5 +19.1 m 75.0 B
= 7 m 134.2
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I )8R
I FEARI#D300 (B) Ho= W EF
4 g AL weos B % & o =
4N [IER g % =EN
R No. 1 + 8.0 m 6.5 s
= m 6.5
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I FEARI#D300 (C) R
4B W o
)
No. 8.0 No. 2 + 3.4 22.5 R18 ##ibh
No. + 19.5 No. 6 + 8 13.5 |R9
No. + 19.1 No. 6 + 10.5 15.0 |R12 #HBh
)
R9 13.5
R12 15.0
R18 22.5
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B

IR (A-27512) o B W EF
- WA e .
4 I N HAL % & W
H =
R No. 2 + 4.0 &1 T 1.0 #HBh
L No. 6 +12.0 &1 T 1.0 T HL
& F & AT 2.0
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B

%

gl
%”5“
I

1/2

H

=1
S

HAL

%

fii =

No.

1.0

i

No.

6

+ 10. 4

1.0

i

No.

0

+ 17.4

B 1L R Hh3 1B A

1.0

i
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B

BAF4E (¢ 600) o B W EF

AN ?’E‘IJ ‘I‘J_:_I; NN sx =
4 I VAT HAL % & =

H =
R No. 2 + 4.0 m 2.0 #HBh
L No. 6 +11.5 m 6.0 T HL
& m 8.0
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7Ly A MURMANE

PU1-360B B B B B E 10 0m4 1
S C = ¥ &
18] I = 16.5 16.5 {A
(PU1-360B)
fir L 2 L 0.36X0.03%X10.0 = 0.108 0.11 m3
(1:3)
I wE 0.56x10.0 = 5.600 5.60 m2

(RC-40 t=100)

FEE 0.56x10.0 = 5.600 5.6 m2
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7Ly A MURMANE

N2 =, = oA i NE
PUZ—3005 e = - 10. 0m24

S C = ¥ &

18] I = 5.0 5.0 f{#

(PU2-300B)

fir L 2 L 0.36X0.03%X10.0 = 0.108 0.11 m3

(1:3)

I wE 0.56x10.0 = 5.600 5.60 m2

(RC-40 t=100)

FEE 0.56x10.0 = 5.600 5.6 m2
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MZARII#D300 (A) ¥ = B B = 10. 0m4 »
4 P 1 = ¥ &

M AR 7 —RDERE R E &2 EE0Tke 5.0 5.0 &
(DFZ300)
)L AL 0.42%0. 02X 10. 0 0. 084 0.08 m3
(1:3)
BWlLaryzU—F 0.52%10.0 5. 200 5.20 m2
(18-8-40BB t=100)
A TP 0.10X2X10.0 2. 000 2.00 m2
H 0.52x10.0 5. 200 5.2 m2
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FIFEAR1T#D300 (B) ¥ & I EH = 10. 0m24 v
4 P 1 = ¥ &

M AR 7 —RDERER L E &% EE513ke 5.0 5.0 &
(NJ300)
fir L 2 L 0.42%0. 02X 10. 0 0. 084 0.08 m3
(1:3)
BWlLaryzU—F 0.52%10.0 5. 200 5.20 m2
(18-8-40BB t=100)
A TP 0.10X2X10.0 2. 000 2.00 m2
H 0.52x10.0 5. 200 5.2 m2
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FE A% D300 (C) ¥ B B B & 10, 0m4 b

S C = ¥ &
M AR 7 —RrDIBRZE L R = 10.0 10.0
(NrDJE300)
LS 0.42X0.02x10.0 = 0.084 0.08
(1:3)
BWLarrzy)—hr 0.52%10.0 = 5.200 5.20

(18-8-40BB t=100)

A AP 0.10X2X10.0 = 2.000 2.00

H 0.52x10.0 = 5.200 5.2
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S (A-27712)

L. Of&FT4 »

£ giin g " =y g L=
R 7 — RHDLIERIE UL | &35 B #1326kg 1.0 .o f#
(HDL3017% H1250)
[ EV - 0. 75X 1.32X0. 02 0. 020 0.02 m3
(1:3)
a7 ) —Fh 0.50X1.02X0. 10 0. 051 0.05 m3
(18-8-25BB)
BlLarz)—Kh 0.85X1.42 1. 207 1.21 m2
(18-8-40BB t=100)
[A] P (0. 85+1. 42) X2X0. 10 0. 454 0.45 m2
SEERR T e v T 1.0 1.0 &
(va > 7 #tFH250)
FmEE 0.85X1.42 1. 207 1.2 m2
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£ K B (8) WoE iR E | TS D
v R s " Y B &=
a7 J—k .20 X 0.90 X 1.35 — 0.80 X 0.50
(18-8-40BB) X 1.20 = 0.978
N ZE—— 0.80 X 0.50 = 0.40 XV PEfg= -0. 070
SV = 0.91 m3
Gt} e 0.80 + 0.50) X 2 X 1.35
+( 1.20 + 0.90) X 2 X 1.35 = 9. 180
NZe— 0.80 X 0.50 = 0.40 Xbv k= 0. 500
> A = 9.68 m2
TV—F o TE 800 X 500 fH Gk E) = 1
(T-2) FMEE Ay
Lok 1.30 X 1.00 = 1.30 m2
(RC-40 t=200)
JLmEE e 1.30 X 1.00 = 1.3 m2
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£ K B (9) WoE iR E | TS D
v R B = B &=
a7 J—k 0.80 X 1.30 X 1.15 — 0.50 X 1.00
(18-8-25BB) X 1.00 = 0. 696
N ZE—— 0.50 X 1.00 = 0.50 XV PEfg= -0. 180
SV = 0.52 m3
Gl e ( 0.50 + 1.00) X 2 X 1.15
+( 0.80 + 1.30) X 2 X 1.15 = 8. 280
NZe— 0.50 X 1.00 = 0.50 Xbv k= 0. 800
> A = 9.08 m2
TV—F o TE 500 X 1000 M (—#%) = 1
(T-25) N VNEE VAT
Lok 0.90 X 1.40 = 1.26 m2
(RC-40 t=150)
JLmEE e 0.90 X  1.40 = 1.3 m2
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£ K B (10) WoE iR E | TS D
v R s " Y ¥ &=
a7 J—k 0.80 X 1.10 X 1.00 — 0.50 X 0.80
(18-8-25BB) X 0.85 = 0. 540
N ZE—— 0.50 X 0.80 = 0.40 XV PEfg= -0. 070
SV = 0.47 m3
Gt} e ( 0.50 + 0.80) X 2 X 1.00
+( 0.80 + 1.10) X 2 X 1.00 = 6. 400
NZe— 0.50 X 0.80 = 0.40 Xbv k= 0. 500
> A = 6.90 m2
TV—F o TE 500 X 800 (—#%) = 1
(T-25) N VNEE VAT
Lok 0.90 X 1.20 = 1.08 m2
(RC-40 t=150)
JLmEE e 0.90 X 1.20 = 1.1 m2
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¥ =2 = i
E14 (¢ 600) o= 3 = 10. 0m4 ¥
£ giin g " =y g L=
B 10.0 10.0  m
(¢ 600)
[ EV - 0. 45%0. 02X 10. 0 0. 090 0.09 m3
(1:3)
BWlLaryzU—F 0.65%10.0 6. 500 6.50 m2
(18-8-40BB t=100)
A TP 0.10X2X10.0 2. 000 2.00 m2
H 0.65x10.0 6. 500 6.5 m2
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B 050 -L 0.8 -H 1.20
0.90 (1.20)
0/20 0.50 07RO i)
(0. 80) 8
7§ o
M B B e
0.0pf 0.90 (1.20) 0.05
0.45 1.00 (1.30)°0.45
1.90  (2.20
PRIE (& L) E= 6. 7m3
BR b= 4.9m3
HEEEBIF W= 1.30m2
ER N= 1EFk
. 1877 - =
m3
K iE wEt 6.7 x 1 6.7
m3
#H R DfE 4.9 x 1 4.9
m2
HEEEIE 1.30 x 1 1.30
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B 050 -L 1.00 -H 1.00
0.80 (1.30)
0[15 0.50 Q7[5 i)
(1. 00) 9
o 8 | o
1 @
; | I, —_— p—
0_05‘ 0.80 (1.30} 0.05
0.45 0.90 (1.40} 0.45
1.80  (2.30
PRIE (& L) E= 5.6m3
BR b= 4.2m3
HEEEIE W= 1.30m2
ER N= 1EFk
. 1EFF - =
m3
K iE wEt 56 x 1 5.6
m3
#H R DfE 4.2 x 1 4.2
m2
HEEEIE 1.30 x 1 1.30
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B 050 -L 08 -H 0.8
0.80 (1.10)
0[15. 0.50 0715 i)
(0. 80) 10
ol o z
-l 9 R
;_—I _______ X ___
0.0p| 0.80 (1.10) 0.05
0.45 0.90 (1.20} 0.45
1.80 (2.10
PRiE (BbE 1) E= 4.5m3
BR b= 3.5m3
HEEEBIF W= 1.10m2
ER N= 1EFk
. 1EFF - =
m3
K 1B WEL 4.5 x 1 4.5
m3
# R D& 3.5 x 1 3.5
m2
HEEEIE 10 x 1 1.10
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EELT

¢ 300

¢ 450

¢ 600

ERHEK (¢ 300)

500

500

K # 1.0m3/m
# & 0.8m3/m

800

500

500

K 1.6m3/m
B R 1.2m3/m

7

1000

750

500

500

K 2 2m3/m
B R 1.6m3/m

&>

450

7

0.3m3/m

58




&

5]

dt
3

N AR

59

T



i AR

£l S T £ i 3*
il AR H ¥ BT o = T
18 T
ISR T N m2 1280 137
T AT 7L b
EiZE T HE EEEA
HAEBRIET A3
£ )& t=5cm m2 0
AR A
e t=15cm m2 1,085
BEZ 7 vy —7 2 (RC-40)
TE R t=3lcm m2 1,085
G CRiE)
HEERET 22
= & t=5cm m2 11
AR TR
e R t=10cm m2 11
BES 7 vy —7 2 (RC-40)
T t=12cm m2 11
AR A
FRAERRIIE T A =1 i TiE
* B t=3cm m2 184 137
HAEY F vy v —F 2 (RC-40) 1 Bh HH
B t=10cm m2 184 137
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T )1

& 4k T o & B B E 1,074 1
v o 7 i1 = % &
HLIE A EEA BRREHEZ LD
319.7 +319.7 + 445.7 - 1,085.1

# B (HESRET A=2) t=bem
i TR D=5 LA = 0 m2

EEEA (BARETREMG)  t=15cm
1085. 1 = 1,085.1
1,085. 1 1,085 m2
TlEgsE (42T v v—F 2 RC-40) t=3lcm

1085. 1 = 1,085.1

1,085.1 1,085 m2

FAMLE () | BIMREIEE LD
10. 7 = 10.7

* J@ (BAEBKIET A=) t=bem
10.7 = 10.7 11 m2

FERE (BRI ETHEMG)  t=10cm
10. 7 = 10. 7 11 m2

TR (FE2 7 v vy—7 2 RC-40) t=12cm
10. 7 = 10. 7 11 m2
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T )1

& 4k T o & B B E 1,074 1
v o 7 i1 = % &

AESRE () | BIRKEHSE X0 i
108.5 +40.0 = 148.5

#£ B (HAESRET A=2) t=3cn

148.5 =  148.5
URERALER (B))  (J4ERR)
(59.24+12.4+1.2) x 0.15 = 10.9
U ERALER (B%)  (J4EBR)
11.0 x 0.10 = 1.1
136.5 137 m2
i (FB4E7 7 v —7 2 RC-40) t=10cm
148.5 = 148.5
URERALER (B])  (J4ERR)
(59.2413.5) x 0.15 = 10.9
U e AL EE (B%)  (J4ERR)
11.0 x 0.10 = 1.1
136.5 137 m2

AEALE (R | BURKESEE X 0w
134.0 +76.2 = 210.2

x JE (BAEBRET A=) t=3cm

210.2 = 210.2
S ALER (B))  (7EBR)
(47.5+22.8+13. 5+21.8) x 0.15 = 15.8
194. 4 194 m2
7 (A2 7 v+ —F 2 RC-40) t=10cm
210. 2 = 210.2
S ALER (1)) (2EBR)
(47.5+22.8+13. 5+21.8) x 0.15 = 15.8
194. 4 194 m2
194.4—10.7 183. 7 184 m2
A AL VE( T PN HHBh
1, 085. 1 +0.0 +10.7
+ 183.7 = 1,279.5 1,280 m2

R IE TiH
= 136.5 137 m2
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mEBIER

HEINEHHEE

BB A
EER LER
B RBT | =rEs 5 &
B F 19 FH| B F N FH|BE T HTHE|E F HIR
NO. 2+4.6
NO. 3 6.14 6.14
No. 3+11.0 | 11.0 | 6.14 6.14 67.5| 6.14 6.14 67.5
NO. 3+13.0 20| 6.05 6.10 12.2[ 6.05 6.10 12.2
NO. 4 7.0| 5.75 590 41.3| 575 590 41.3
NO. 5 20.0 | 4.90 5.33 106.6] 4.90 5.33 106.6
NO. 5+6.0 6.0 | 4.64 477 28.6| 464 477 28.6
No. 5+19.2 | 13.2 | 4.64 464 61.2| 4.64 464 61.2
NO. 7+6.0 4.64 4.64
SP.2 0.5| 4.64 464 23] 464 464 2.3
NO. 8
&% 319.7 319.7
ERE
B | =
B F ¥ FR|E OF ¥ FHE|®E OF H FEFHE|E OFE H THE
R
1
2 445.7
3
4
5
6
&5t 445.7
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HEIHN=TEES

MEAIR

HE
Efl (&) A1 (FEBh)
BRI | XmmEs =
B OF ¥ EH| R OF ¥ FHE|E OF HEHE|EB OF H FEHE
NO. 2+4.6 1.78
No. 3 15.4 | 2.28 1.78  1.78 21.4
No. 3+11.0 | 11.0 | 2.28 2,28 25.1| 1.78 1.78 19.6
No. 3+13.0 2.0 1.78  1.78 3.6
No. L 1.78  0.89 1.78  1.78
No. 4 7. 1.78 1.78 12.5| 1.78 1.78 12.5
NO. 5 200 1.78 1.78 35.6| 1.78 1.78 35.6
no. 5+19.2 | 19.2 | 1.78 1.78 34.2| 1.78 1.78 34.2
NO. 7+6.0 2.28 2.28
SP. 2 0. 2.28  2.28 1.1 2,28 228 1.1
NO. 8 13.5
NGt 108.5 134.0
Z (i B) A1 (#EBh) ERER (HE) ERED (FEBD)
B R AF | XRE & =
g T ¥ FHE|BE F HER| B O HFEE|BEB OF ¥ TER
ERE
1 45.9
2
3 4.3
4 30.3
5 35.7
6
INEF 40.0 76.2
&% 108.5 134.0 40.0 76.2
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HEIMETESE A

Y ANGE NO.
ERER
R R BT | XrEmEs &=
E OE ¥ ERE|IE OFE B FEHE|E OFE B EFHE| IE OFE B FEHE
1.78
1 6.0 1.78 1.78 10.7
&t 10.7
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=

GaT N
Bl ]l i S B 0 % i C:

#HiBh TE
fxa L A LA m 78.2 59. 2
f/iBh T B
%A 1. (B) m 3.0 1.2
ffiBh TH
foZamN(®) m 31.6 12.4
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FE B IR

&E T () B o= W F
W
g4 P (ATS B ¥ & =
H £
L No. 1 + 7.7 No. 1 + 8.8 m
L No. 1 +18.6 No. 2 + 3.4 m
L No. 3 + 0.0 No. 5 +19.2 m 59.2 |TiEL
R No. 1 + 80 No. 1 + 9.0 m 7.9 B
R No. 2 + 4.0 No. 4 +12.0 m 47.5 fdBh
R No. 4 +19.0 No. 5 +19.5 m 22.8 i
7
m 78.2 | HiBh
m 59.2 THHL
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FE B IR

%4 T.(B) 2 o= W OF
oA e
4 i IAT: = HAAT & O
L | No. 19.6 No. 6 + 0.1 m 1.2 HiH
R | No. 9.0 No. 1 +12.0 m 1.2 |#HBh
R | No. 12.0 No. 4 +19.0 m 1.2 fiBh
R | No. 19.2 No. 5 + 19.8 m 0.6 |#fiBh
%
m 3.0 |f#Bh
m 1.2 THHE
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FE B IR

&FT.(0) B o= W F
Ho R
g4 P (ATS B ¥ & =
H £
L No. 6 + 0.1 No. 6 + 8.1 m 12.4 THHE
R No. 1 + 9.2 No. 1 +18.0 m 12.7 ##iBh
R No. 4 +12.0 No. 4 +19.0 m 6.0 fHiBh
R No. 5 +19.8 No. 6 + 10.5 m 12.9 f#Bh
7
m 31.6 HfiBh
m 12.4 THH
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%A () B o®m i H OE 10. 0m24 1
How L o &
REEEE R Ty s W=72kg/f# (L=0. 6m) 10. 000 100 m

(M FEYE BfE)

EN Y S 0.23%0.02X10.0 0. 046 0.05 m3
(1:3)

P 0.22%10.0 2. 200 2.20 m2
a7 Y—Fh (0. 340. 10+0. 15X 0. 12) X 10.0 0. 520 0.52 m3
(18-8-25BB)

HOwE M 0.39X10.0 3.900 3.90 m2
(RC-40 t=10cm)

FEHEIE 0.39%10.0 3. 900 3.9 m2
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&A1) B R B OF 10. 0m4 Y
How L o &
REEEE R Ty s W=61kg/f# (L=0.6m) 10. 000 100 m

(i £ B)

EN Y S 0.23%0.02X10.0 0. 046 0.05 m3
(1:3)

P 0.22%10.0 2. 200 2.20 m2
a7 J—h (0. 340. 10+0. 15X 0. 12) X 10.0 0. 520 0.52 m3
(18-8-25BB)

HOwE M 0.39X10.0 3.900 3.90 m2
(RC-40 t=10cm)

FEHEIE 0.39%10.0 3. 900 3.9 m2
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A L0 OB I B = 10. 0m24 1
How L o &
REEEE R Ty s W=27kg/f# (L=0. 6m) 10. 000 100 m

SV EIN:)

EN Y S 0.21X0.02X10.0 0. 042 0.04 m3
(1:3)

P 0.22%10.0 2. 200 2.20 m2
a7 J—h (0. 34X0. 10+0. 17X 0. 12) X 10.0 0. 544 0.54 m3
(18-8-25BB)

HOwE M 0.39X10.0 3.900 3.90 m2
(RC-40 t=10cm)

FEHEIE 0.39%10.0 3. 900 3.9 m2
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=

BHEM T N
Bl ]l i S B 0 % i C:
fiBh THL
BEARIBA M T H— KA Gp—Cp—2E m 10.0 6.0
H—RL—L Gr-C-4E m 0.0 @ =TIy
5 1E At T HRYERS IR (1) - rp A A m 0.0 @ F—rTI
HRYERH 1R (2) CoftiA F- m 0.0 @ =TIy
T Bl. Om & AT 0.0 @ =TIy
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B

H— R4 7
NA =, =
(Gp—Cp—2E) N

N Al e v o .

P R AR ==X va ¥ = Fi¥ G2

H =
L - No. -2.0 No. 0 -10.0 m
L | No. + 7.6 No. 0 + 17.0 m
R - No. -0. 4 No. 0 -11.3 m
R | No. + 8.7 No. 0 +19.0 m
L No. + 13.3 m
R No. + 13.0 m
L | No. +19.7 No. 6 + 5.8 m 6.0 B
L No. + 17.7 m
R | No. +19.7 No. 6 + 6.7 m 8.0 #HBh
R | No. +19.0 m 2.0 #HiBh
& &t m 16.0
J— KL —
N3 =, =
(G r —~C—4E) N & W O E
H 3 3
4 g AT HAL % & i )
H =
& F 0.0 0.0

7



W IE RS T

i A1 #
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SR T SEET S

I B #R

WL T
4 R bsz) s ==X va o = I £
a7 ) — k m3 6 [4.2+2.1

CoriE i L B2 417 m3 6
AR L As t=bcm m2 226

AR YT Ky As t=bcm m 9
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